Math 30-1 Unit 3 Exponents and Logarithms Review Name

1. Determine the foll ing characteristics of the graph of f(x)= (10") +3
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2. Given y=4" anditsinversex=4’ & y=log, x
a) Complete the table of values for each

y=4* y=log, x
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b) Sketch y=1log, x. | ¢) If f(x)=log, x,sketch
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3. Given y=log,(x—4) @ Q- ")(-I"\ B
a) Determine the fapwing characteristics 'ié‘r“\’ r@ TRk %*L\ = \'6
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b) If f(x)=log, x, what is the x-intercept of h{x)= f (—;— x)?
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4. The point (1, 0) is on the graph 6f y =log, x. Determine the coordinates of the image point after
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the graph has been translated accordmg to the equation y =log 3(2): -4).
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5. Describe in wc}rds the transformatnons reqmrcd to transform the-graph of y=1log, x to the

. graph of y=-10g5(%x+6)—3. - E\OSSEE(*\ 3 T
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10. Express log, 200 in terms of x given x =log, 5 \ Q5 X \Q P
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12. Using the equation log:; x = y, what would the expression log, x equal?

C\\wca:%j - lq};(:} =

13. If log; 5 = x, express 2log, 45 — —lc;g3 225 in terms of x.
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14. For each of the following, solve for x. Remember to list the domain.

a) log, x—log,(x+2)=3 b) logx+log6=log%

c) 2(log, x)* ~log, x" =4 =0 d) 5% =3

(-3}
15. Solve for the value of the variable, 3***" = [%)

16. A bacteria culture starts with 5000 bacteria. After 6 hours, the estimated count is 80,000.
What is the doubling period for this bacteria culture?

17. The population of a city is increasing at a constant rate of 5% per year. The city’s present
population is 200 000. Determine the minimum number of years it will take for the
population to exceed 500 000.
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